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Math 112, Spring, 2014 Ioxam 1 name:
Show any relevant work. For each problem, circle your answer

1. (12 points) For each angle below, change degrees to radians and radians to degrees:
a. b /6 rad b. —300° e Tw/2 rad /7(1. 765°
S gel v 750° /) e ad 450 268 - 7711
@ W/ A /f}dﬂ 50

3/5’00]1;3_ :W"]”‘—_ﬁ’l = AT ol |43

é a. tan(27/3)

- A3/

2 32
[t

et

| "
Td 43

{ b. sin(=77/6) -

G e sinT(=1) O /A
w7 L
‘ "“(,:7]3/’ d
o G——




3. (10 points) A sector of a circle with a central angle mcasure of 27/3 rad has arca of 5m?. Find the radius

of the circle. ) LR
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4. (12 points) A ponderosa pine casts a shadow of 240 ft on level ground when the angle of elevation to the
\’l/ sun is 24°. How tall is the tree?

¢ |
X A2y’ {é‘ w /
A4D

fr" zd ft’ w-=m-——-

; pa
Y= 790 " o, 29O 7
~ 1/L6. 585, ?fef’,’/‘

5. (12 points) If cos& = 3/8 and sinx < 0, find the Talues of the other five clementary trigonometric
\I'V functions at . Draw a skct(,h with appropriate reference angle.
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7/ 6. (12 points) Solve each triangle below. Sketch appropriate triangles labeled such that side a is opposite
angle A, side b opposite angle B, and side ¢ opposite angle €.
a.a=4, ¢=9, B=065°
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b. A=75° B= ()0°, ¢ = 340 miles

C = r50° (15060")= 75° [+ 1

ot/

Sa 15 ° sae Y70 Sm 400
1, . 2Y) s/ - e A :
( il 6 390 .

IR St Y50
Z L L=
\/ﬁ_ [ /é 6/ /S‘f// 7/, afz

7. (12 points) A commercial jet leaves Kuala Lumpur and flies on a bearing of N 30° E for 90 minutes. The
’)/ pilot then turns to fly on a bearing of N 90° W and flies on this bearing lor 4 hours. I the plane is flying
\ at a constant speed of 500 miles per hour, how far is it from Kuala Lumpur at this time?

[ 1, o : o0 m: |
O | 1% q007 1355 -20850) (00 o W\Y\di |
—

= Sm 72f a //)ﬂi/ é‘ 80m. 510 60° A/V/& 5// /r//

| T
Jy[;/:/m@zfoo mﬁT '
.'/ B
- /%lf() 1 /eg / 5 (/'7/f/{ /a/ﬂec&saﬂ S /a'f
T
+ A /?/(m/mc:?f aan Ears

& fﬁ/’ﬁ‘lés

v



